Answer Sheet No.

Sig. of Invigilator,

SOCIOLOGY HSSC-I

SECTION - A (Marks 20
Time allowed: 25 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C ! D. Each part carries one mark.

{) Sociology studies:

A Social relation B. Animals C. Astronomy D. Literature
{ii) Who is the founder of classical sociology? ‘

A Auguste comte B. Max Weber C. Emile Durkheim D. Ibne-Khaldun
(iii) Sociology is the combination of how many words?

A Four B. Three C. Two D. Five
(iv) Sociologists are working in heaith profession as:

A Medical officers B, Social Medical officers

C. Criminologists D. Psychologists
V) The condition disliked by the majority is called:

A Terrorism B. Crime C. Problem D. Social problem
(Vi) Minimum number of persons required for interaction is:

A Four B. Three C. Two D. Five
(vii) Which one is the example of social interaction?

A Swimming B. Talking on phone

C. Running D. Travelling
(viii) Social interaction is the base of:

A Social Group B. Building C. Cuiture D. Games
(ix) Social life constitutes:

A. Bridge B. Science C Society D. Road
(x) The concept of Secondary group was given by:

A Maclver B. Sumner C. °~ Max weber D. Durkheim
(xi) Achieving a position in society is called:

A Group B. Status C. Experience D. Caste
(xii) Which one is not achieved status?

A Student B. Doctor C. Engineer D. Man
(xiif)y  Which one is law-making organization?

A Police B. Parliament C. Judiciary D. Parents
(xiv)  The values which are practised and are popular are cafled:

A Civilization B. Cuitural C. Religious D. Social
(xv)  Which one is NOT present in animal society?

A. Group life B. Food C. Culture D. Defence
(xvi)  Who said that culture is the social heredity?

A Linton B. GrahamWilis C. Barnes D. Taylor
(xvii)  The smallest unit of culture is:

A. Cultural Trait B. Cultural compound

C. Cultural sample D. Sub-Culture
(xviii) Courts and jalls are part of: _

A Family institution B. Educational institution

C. Political institution D. Economics institution
(xix) Life of individual starts from which institution?

A Religious B. Recreational C. Economics D. Family
(xx) Division of society on economic basis is;

A. Caste B. Ciass

C. Social stratification D. Wealth
For Examiner's use only:

Total Marks: 20

Marks Obtained:
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SOCIOLOGY HSSC-I

Time allowed: 2:35 Hours Total Marks Sections B and C: 8(

NOTE: Answer any fifteen parts from Section ‘B (a)’, one part from Sectto'n ‘B(b) and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

()

(if)
(iii)
(iv)

Note:

SE - 50
Answer any FiIFTEEN parts. The answer to each part should not exceed 3 to 4 lines. (15 x 3 = 45]
Define Sociology according to Talcott Parsons.
What do you mean by sociology of education?
What do you mean by pure or basic sociology?
Explain briefly the relationship of sociology and economics?
Define social interaction.
What is meant by indirect cooperation?
Define absolute competition.
Define social group.
What is secondary group?
What is local group?
Define Role.
What is meant by role conflict?
Define social norms.
Define positive sanctions.
Define values.
What do you mean by society?
Indicate three differences between nomadic and sedentary society.
Define cuiture according to Herskovits.
Define cultural change.
What is meant by Patriarchal Family?
Write down any three functions of religious institution.

Attempt any ONE part. (tx5=5
What is Acculturation? Write briefly.

What do you mean by class consciousness? Explain briefly.

SECTION - C (Marks 30)

Attempt any THREE questions. All questions carry equai marks. {3 x10=30

Q.3 Discuss in detail the fields of sociclogy giving examples from Pakistani society.

Q.4 Explain the difference between social action and social interaction.

Q.5 What do you mean by social processes? Exptain in detall accommodation and its types with examples.

Q.6  Write note on cultural variabilities by mentioning the exampies and causes.
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